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1 (Sem-4) ECO 4

Full Marks : 60
Time : 2% hours.
The figures in the margin indicate
full marks for the questions.
1. Answer the following questions: 1x8=8
wore Al epeTyRs Ued il 8
(a) Define ‘derived demand’.

e bifRurs e fm

(b) Write the mathematical form of the
C.E.S production function.

C.E.S Ceoiive Feiws alifdfos sl forl|
(c) What is partial factor productivity?

TeRE T Bl el {62

(d) With a 12% interest rate, what is the
present value of Rs. 120 that will be
received in the next year?
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12% 3193 {0, +i<gef axqe i@ 34
120 T IS 3577 52

(e) Iff X, r:}nd-XQ' are two possible outcomes
of a risky situation, and P, and P, are

their respective probabilities, find the
expected utility. '

M X, W X, <51 wfiRes AfRT2Rex o1 T8I0
PRI 28, W1 P, w1l P, sl % 751 ~AfRelE
B! 2, (S0 Aifie Ssiraisel Sled |
()  Who is known as the
theory? i
o RS Frgscat is o 332

(Q). What is meant by Pareto optimality?

Y (B! STl Rt R et e

A

father of game

/§ e the First Fundamental Theorem
[‘2 - Welfare Economics.
2 /e g :
6‘5\5’?& : /F&W 4qIeT daw GRfere SosAms! S
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2.

An ; : '
SWEr any six of the following questions :

©T® T ST i gy Sow ¢

@ E 2x6=12
4 xplain the conce -
t
productivity. pt of marginal
A st TieTor et gt o |
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(b) What is a fixed coefficient production
function ? ;

57 woieF e T 52

(c) What does a contract curve indicate?

o 39 e

_——(d) 1If two possible outcomes of a risky

- \\ situation are Rs. 100 with probability

""'__\Q-4, and Rs. 120, what will be the
‘expected income of the situation?

< 2fis Retree +iRFES b TSRy TeE 100

< /B TR eifdel TA 04, SIF 120 5 2,

(o Retwems ARMEOGR GG IBICACIRRSIT
2q?

(e) Define fair gamble with an example.

Twizgd IR IS RS TR kel |

() State two major differences between
monopoly and monopolistic competition.

GBI % GBS Afstifier Nere
751 2T AL Tzl T

(g9 Who is a player in Game Theory ?
(o fAE_o (P 9@ (IS0 2

(h) Explain the concept of social welfare
function.

e Teplel TR CIFANTe! TN B9 |
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(1) Define the Kaldor-Hi 1 h
o g o -Hicks co .
priniciple in brief. mpensanon

IFTe-Rel 7R TS AT Ao 4 |

] () Interpret
Curvrg the slope of the transformation

TG ([AR Ol o e <54 |

3.
Answer any four of the following questions :
ol _ 5x4=20
OeTS Wl 2P R bif<E)T Ges a8

—fa)- Di
el ,Dlzcuss how te_:chnological progress
nges the position of the production

Q.\é‘o ¢ .

Q"\‘Q E S "g

5/ =/ Yanction. Explai

S n. Explain in this context, capital

x SIEAD Y | @B WG IJELAT Fo 1w
iy AR o w1 agfesrs Safe il
b

(b) For the Cobb-Douglas production

-fun_ctlon Q=AI°K?, show that a+ f
indicates return to scale.

TI-GINR TeAM FeW Q = ALK? 9 A,
(S @ o + B @) #/RESTS Afoni o1 |
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(c) “For risk averters, losses are more
important than gain.” Explain the
statement with an example.

oxfemicapl Rrad) Fee G, NP0 ACOE
s 7ol | Biae o fRgfeust A !

(d) What is certainty equivalence income
(CEI)? How is the cost of risk measured

using the CEI? - 3+2=5
© see S (CEI) &2 CEI SERE

SCERISIE (WS el 24 2

Jktinguish between the perceived and
oportionate demand curves under
onopolistic competition. Which of

these two curves is flatter and why?
3+2=5

awrha dfewiEeR wfTe deffFe oI
Feelifes bifl RIS e s{iefy 4t | 10!
@F (@R A blel I 92

() Taking an imaginary pay-off table,
explain the equilibrium in the case of
a two-person zero sum game.
TS (o-OF @WW.@,WW“W
AFR (T CFIS TF SRSl

(g) Derive the marginal conditions for
Pareto optimality in the context of

product mix.
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(h) State the Second Fundamental Theorem

of Welfare Economics with a suitable
diagram.

wqwﬁﬁﬁmﬁa@ﬁwwﬁ
Lﬂﬁ@ﬁrmwaﬁﬂnaﬁﬂ :

4. Answ§r any two of the following questions :
10x2=20
©eTo 7l SRR Rzl 7517 Seg fim 3

V{CI_.} LE,‘g)cplam the demand for labour in a
e rfectly competitive market when—
=/ ,_ ___,.-'( };_‘.\ labour is the only variable factor

(m) /Ej}ere are several variable factors.,

(b) \e.ertlll the help of a suitable diagram,
xXplain how the production possibility

frontier is
1 derived for a multi- -product

SRS foam 72, @Bt 72 Besti afobra |

m@awwﬁm@mf@wqw
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(c) Explain how a consumer will choose to
spend her money across two time
periods with a fixed rate of interest n

order to maintain equilibrinm.

G SE® B B GG AiRiF (ST
75! e Fiied 4 @3 4R 799 29 e
7 FR I TR 4

(d) Explain with diagram, how a
discriminating monopolist attains
equilibrium.

RrewaiRl Al SfPIE AT SRRy
oi® 9, oag T [ T |

(e) Explain Walras’s vision of the working -
of the economic system:c® T“\\

wiftafos WWWWW
Riazsinisneail
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